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Answer all questions.
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1/3 part of the mark(s} of cach question will be deducted for cach wrong answer. (A wrong answer

means an incorree! answer of more than one answers for any question. Leaving all the relevant circles

or bubbles of any question blank will not be considered as wrong answer.)

The candidate should ensure that Series Code of the Question Paper Booklet and Answer Sheet must be

same after opening the envelopes. In case they are different, a candidate must obtain another Question

Paper of the same series. Candidate himself shall be responsible {or ensuring this.

Mobile Phone or any other electronic gadget in the examination hall is strietly prohibiled. A candidate

tound with any of such objectionable material with him/her will be strictly dealt as per rules.

Please correctly fill your Roll Number in O.MR. Sheet. 5 marks will be deducted (or [illing wrong or
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prosecuted under Scction 3 of the R.EE. (Prevention of Unfairmeans) Act, 1992, Cammissicn
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1 The best soil structure for favourable physical properties is :

(t) Crumby and gramular (2) Platy and laminar
(3) Columnar and prismatic | (4) Blocky

Tl % e dfv T & fog e gE W R o
(1) Tgwg qa H (2) we WY W Wi
() wweR T ey (4) @ HgH

2 The natural aggregates of soil are known as :

(1) peds @) clods
(3) fragments (4) gravels
a1 & wRpfad TeNd wEaW &

() s @) =
(3) uww=s (4) w&s

3 The degree to which a soil resists deformation when a force applied is

termed as :

(1) Field capacity (2) Capillary capacity

(3) Consistency (4) Friability

T @ 9T ga W S faegar @ wfady e @ e @y wed @
(1) &% s (2) e e

(3) e (4) T

4 The soil has porosity of 40%, its void ratio is -
(1) 0.60 {2) 1.50
(3) 0.40 4 0.67
T B ATEA 40% T A THEl TH YR B -

(1) 0.60 () 1.50
(3) 040 (4) 0.67
94_A] 2 [Contd...
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5  The following soil water is held due to adsorption forces -
(1) Gravitation water (2) Capillary water
(3) Hygroscopic water (4) Hygroscopic and capillary water
et g s aifstfva aat ao afa @ 2
() 7o ww (2) *him W@
(3) el S () omqmd @ W s

6  The rate of decomposition of lignins and phenolic compounds is :

(1) Rapid (2) Very slow

(3) Slow {4) Medium

T wd Remifees Sfe @ o (Regew) iy &= ¥
() <t (2) =g dnir

(3) 4 (4) wam

7  The decomposition of organic matter in soil reduces :

(1) Acidity (2)  Alkalinity

(3) Fertility (4)  Salinity

Tl W wEte g % emues (rwdew) 4 @w B ¥ o
(1) s (2) arlEa

(3) wERa (4) waviEan

8 The suitable nitrogen fertilizer for sodic (Alkali) soils is :

(1) Sodium nitrate (2) Ammonium sulphate
(3) Urea (4) Ammonium chloride
il Eel & R Swge Tede s ¥ o
() s e @ enfem TR
@) A (4)  omifEm FwEs
94 A] 3 {Contd...
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9 The SAR (Sodium Adsorption Ratio) of irrigation water is calculated with
the help of following formula ( concentrations of ions in me//7) .

MJ'++ +
(1) SAR= & (2) SAR= Na
\l Cat+Mg™ \/Ca” +Mg
2 2
~ 4+ Na©
G) SaR=—9 ) SAR= e
\/ Ca** + g™t J Na© + Mg
2 2

e & @@ T oW (Wifvan sty eque) A e fre A @ fea
gy Wl geEar ¥ W ol @ ¢ (et @ A el sfeEdde ulh feer)

Mo™t Na™
() TETAR= £ — () U= l -
JCGH + Mg \]CaJrJr +Mg"

2 2

++ Nat

G) wgTem= ="l 4) TE TR = ¢
\/ca++ +Mg't \/ Na™ +Mg*™

2 2

10 Which of the following is a safe limit of RSC (Residual Sodium Carbonate)
of irrigation water proposed by Eaton (1950) 7

(1) <125me/l (2) >25me/l
(3) <Smell 4 >75mell

e & o wE o (oufite @it sEhe) # wF @ gdda |
Fenfs 32 (1950) aRT weatad g % 7

(1) < 1.25 Tl simaeie wia feex

(2) > 2.5 Pl shFEwe win e

(3) < 5 el shEdee ufy feex

(4) > 7.5 Bl gfeReanie Wi e

94 A] 4 [Contd...
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11 The disease resistance in plants is imparted by :

(1) DPotassium (2) Molybdenum
(3) Nitrogen (4) Manganese
drel # Irufaduear R T@ § e ¥ 7

() wiefmm (2) wiferem
(3) eI (#) AT

12 The deficiency symptoms of Calcium and Boron are generally observed on :
(1) Young leaves in terminal bud
(2) Older leaves
(3) Lower ieaves

4) Older and New leaves
Phaem wd I B TN F wew wuner: R 31 O¥
(1) ofd sfaeed & qeor ofedt ©

@ gl ufeEl o

(3) Frwlr ofaat qx

@) g d qou e W

13  Application of murnate of potash is generally not recommended for :
(1) Wheat, Barley, Mustard
(2) Bajra, Sorghum, Maize
(3) Sugarcane, Sugarbeet, Tobacco
(4) Groundnut, Sesamum
WU Re weel # A offe dietw ¥ AgEErT @ IrgeiEn W @t
W 8 7
(1) W, =%, @

(2) 9, WR, A6

(3) T, g, dEg
(4) wedr, fod

94 A} S [Contd...
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14  Diammonium phosphate contains :

(1) 46% N and 18% P,0; (2) 18% N and 46% P,0s
(3) 20% N and 20% P05 (4) 18% N and 20% P,Oj
SRIHTIH Bi%he N URT AT ¥

(1) 46% N Ui 18% P,0; () 18% N T 46% P,0;
(3) 20% N uwd 20% P,0; (4) 18% N wd 20% P,04

I5 The essential constituent of Chlorophyll is :
{1) Calcium (2} Sulphur
(3) Nitrogen (4)y Iron
wieha &1 a[EEs s@ad ©
(1) Hivgam (2) T
(3) TR (4) e

16 The "Khaira disease” of paddy is mainly due to the deficiency of :

(1) Iron (2) Manganese

(3) Zinc (4) Copper

gy A g T JeEadl e a @B w9 s &7
(1) @ (2) AT

@) W (4) @

17 Which of the fertilizer contains citric acid soluble phosphoric acid ?

(1) Basic slag {2) Rock phosphate
(3) Single super phosphate (4) Triple super phosphate
T ¥ S F s o A Yol wienie oF URT ST ¥ 7
(1) “fw wm 2) & wEhe
(3) R g wiese @) o gm wiwse
94_A] 6 [Contd...
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18 Odd out from the following which does not relate to chain survey.

(1) Metric chain (2) Jacob's chain
(3) Gunter's chain (4) Engineer's chain
e o & B WA wdee @ wated T ¥

(1) WARw o (2) w@a =

() TR = @) $fafrz @

19 Which of the following field i1s largest ?
(1} Field-A : 10 square kilometer (2) Field-B : 100 hectare
(3) Field-C : 625 acre (4) Field-D : 2500 vigha
et o 4 &9 W wies waw 981 § 7
(1) Wie-A ;10 waE feaider (2) wies-B @ 100 ¥
(3) WE-C : 625 uws (4) Ties-D : 2500 Srar

20 Which one of the following is the latest survey equipment ?

(1) DGPS (2) Theodolite
(3) Total survey station (4} Dumpy level
e & ¥ =9 @ enyfee wdaw SuERer § 7

(1) Sdrog. (2)' 31 AT A
(3) TrRW WA WIN (4) =W waw

21  The line joining the places having equal rainfall is called -

(1) Isobaths (2) Isohyets
(3) Isotherms {4) Contours
TAF a9l B A WA w S 9nl @ HAR 5 —
(1)  oEEE (2) oTEEEEe
() (4) ®rgy
94 _A] 7 [Contd...
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22 A convenient starting point to describe the hydrologic cycle is in the -

(1) ocean (2) lake

(3) earth ' (4) atmosphere
A U% & U &g G99 glauewes wilhe fEg o' -
(1) weEr 2) ¥

(3) 9= (4)  arERT

23 In hydrologic analysis the volume of water is often expressed as -

(1) Average depth over the catchment

(2) m?
(3) m%unit area of the watershed
4 md/s

o faseme ¥ W@ uee # WM weita T wmam ¥ -
(1) s & ¥ ofea e

(2) w1 "X

(3) =W AR W UHE SRR &

@) 99 9 %9 S

24  Recurrence interval or return period of a rainfall event is expressed as -

(1) T=1/P 2) T=K-p

() T=(p)?2 (@) T=N+1/m

el & Rt @ sreen fete =09 & @ 99 g0 weiia femn
WET E -

(1) T=1P (2) T=K-p

3) T=(p)/2 (4) T=N+l/m

25 Tropical cyclone is called as :

(1) hurricane (2) anticyclone
(3) convective cyclone (4) reverse cyclone
SwEpfealea Twa B 9% W HE W §
(1) & (2) vfa =ehaw
() HIEH whA @ fod wmaw
94_A] 8 [Contd...

www.upscstudymaterials.com



www.upscstudymaterials.com

26 Run-off coefficient is higher of -
(1) agriculture lands (2} barren lands
(3) forest lands (4) grass lands
foraen omare e ofye g ¥ O?
() @) T o
(3) a7 () o
27  An erosion with intensity ranging from 0.5 to 5 m¥/ha/year is considered
to be -
{1) insignificant erosion
(2) shlight erosion
(3) severe erosion
(4) geological erosion
98 Ho Rreel doer 0.5 § 5 ud WeyRwy/ad ¥, @ we owar ¥ -
(1) sAfaEEim & (2) TR P
(3) oraE e @ e FerE
28 Hydrologic soil group-C contains -
(1) clay loam and shallow sandy loam
(2) heavy plastic clay
(3) certain saline soil
(4) deep sand
vl S - 9 gk ¥ -
(1) foed od seaw ogs B
(2) Wil s fown frd
(3) Tima st gy
@ wed =g fd
94_A] 9 [Contd...
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Which of the following conditions would lead to the most soil erosion ?

(1) Heavy rainfall (from a single storm) wn an area of low average annual
rainfall.

(2) Steep slopes in a tropical rainforest.

(3) An agricultural region where soil conservation practices are
implemented.

(4) An area that has been urbanized for several decades or more.

e & ¥ & @ Rl oiye i &1 o § 7
(1) &9 ofma aife aul & &= § wil aut (we awl gog =)
(2) oAaUS TETEH SWEEAY 99 o9 &5 o

(3) FN FF Sl q WET IYW AN T F

(4) 9% &9 Sl B3 WA U TEN TAE TS a0

Rill erosion usually begins in the -

(1) lower part of land slope (2) upper part of land slope
(3) middle of land slope (4) entire length of land slope
gE UET grE: §E Bl § -

() g oo & Trad & § (2) 9ft so@ & oo & #

(3) 9% T@= & T H 4 sEE W e we o
31 The limit of slope length at which soil erosion begins at called as -
(1) optimum slope length (2) critical slope length
(3) allowable slope length (4) umit slope length
TAM WA S G e wX TS @ wer & T %, ®El W § -
(1) HYPpad A TR (2) i< TaM wETE
(3) ST TEM WIS 4) TBE TWH WNR
94 _A] 10 [Contd...
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Erosion intensity of sheet and wind erosion is expressed as -

() m/ha _ (2) tons/ha

(3) m/s (4) both (1) and (2)

U AU AY B @l AT dedl @ oEw R o §o-
() =7 drx gy w3 (2) =T ufg Ewx

(3) w1 AR qfa T&TS 4 T () T ()

Longitudinal slope of gully bed is almost parallel to the adjoining land
slope. It is generally found in case of -

(1) V-shaped gully (2) U-shaped gully

(3) inactive gully (4) active gully

SEIeRT ot 1 SE oA el Ui % TN HOER Sl § g8 Wi
ERERCEE AR A S U

(1) & et araAieraT (2) g STERIT TSI

(3) THfpT sremietan (4) Wiha STAIAD!

In surface creep process the transportation of soil particles varies from -

(1) 3 to 38% (2) 55 to 72%

(3) 80 to 90% 4y 7 to 25%

Tae faadw gften & 921 @0 &1 oResy @6 = 7w § -
(1) 3 ¥ 38 iy (2) 559 72 ylasa

(3) 80 ¥ 90 Wi 4) 7/ 25 wlaew

K.E. > 25 index method for computing rainfall erosivity factor (R), does
not consider the rainfall of intensity -

(1) more than 25 mm/h (2) 25 mm/h
(3) less than 25 mm/h (4) 30 mm/h

aui @ BE (MR T & fMu suErt et faft KE. > 25 e
aul & dEgd W A TE s 7

(1) 25 e via v € st
(2) 25 PeimEz 9id =ve
(3) 25 TPrrfier ufq wver ¥ &9
(4) 30 fhdrier ufq wver

94 _A] 11 [Contd...
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The runoff water volume of 1000 MCM (Million Cubic Meter) equals to -

(1) 100 ha. cm (2) 1 cublic kitometer
(3) 1000 ha. em {4) 10 cubic kilometer
o SuaE SEad 1000 MCM (frfras wfae dee) e & s ¥ -
(1) 100 FTFT F=nre (2) | =fas feenfier
(3) 1000 ¥TRX F=HRI (4) 10 =fys ReamRz

In general the contour bunding is practiced in all type of soil except -
(1} clayey and black cotton sl (2) loamy soil

(3) brown soil (4) highly permeable soil

e g 9y e oyer @ el @ sew ol il §
SRl ¥ -

(1) = o @l Bl (2) Tow agd &

G) i P (4) oaiye T RE

The permissible flow velocity for design of diversion drains to be under
a good grass cover is taken as -

() 1.5 m/s (2) 20 m/s

3 2to25m/s 4 25to3 m/s

I TE Y AT Ul e AR Wowaw A9 o e o§ -
(1) 1.5 9= 9id 9% (2) 2.0 A= 3T FETS

(3) 2 ® 2.5 #WeX g d@US (4) 2.5 ¥ 3 He gy e

39 Revised Universal Soil Loss Equation (RUSLE) estimates -
(1) monthly sediment yield (2) average annual soil loss
(3) gross soil erosion {4) average annual sediment yield
demf gl gt s @i | MO @ SR § -
(1) w=fs Jase (2) o TIN® F& T
(3) THA T FW (4) oma TN I@se I
94_A] 12 [Contd...
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In India, among the major and medium rivers of both Himalayan and
non-Himalayan categories, how many flood prone area are found 7

(1) 25 2) 7

(3) 18 (4) 15

A H Rama ok -fEmw @9 G ¥ geq ot wew aRal %
drg Bha WX & 916 Wog &9 UH W & 7

(1) 25 2) 7

(3) 18 @ 15

41  Double row brush wood check dams are economically constructed to control
the gullies of -
(1) 1.5 to 2.1 m width 2) 1.5 to 2.t m depth
(3) 5 to 10 m depth (4) 3 to 5 m depth
T 991 ge o@dy @y sEive F Foisen 3g @@ W ¥ -
(1) 1.5%¢ 21 A 9= (2) 1.5 % 2.1 #iey WY
(3) 5 ¥ 10 dier =L (4) 3 F 5 X ™
42  Drop inlet and chute spillways consist of -
(1) inlet and outlet (2) inlet, conduit and outlet
(3) weir and outlet (4) earth dam and outlet
s TR TE g Raw A A @ ¥ -
(1) T iR omeede () TIe, FHgL T e
(3) TuY 3lix emEcwe (4) aERw R Eewe
43 In LUCC system, the sub-classes indicates the problem of -
(1) soil type (2) major land use
(3) slope (4) slope length
qi S guar @iteer (LUCC) & ofrid Suat &&l, 38 99l &
T Fw E -
() & v (2) FEg I I
() =™ () °W @ wER
94 Al 13 [Contd...

www.upscstudymaterials.com



www.upscstudymaterials.com

44  Strip cropping technique for erosion control is more effective when it is
practiced under -

(1) crop rotation (2) bunding

(3) terracing (4) single cropping system
e BN 9w Y wed 3g ofhe yudl ¥ oaR s osue iy
U ST —

(1) vwEw w6 (2) WS

(3) dfend (4) wHE wEd TEld

45 Contour bund length in meter per hectare is given by -

(1) 10000 / HI (2) S/EIX100
() VI/S$x100 (4) HI/S %100
THIG HS &l WERE HeX Y §FeY 3@ YF T A9 Gl Wl & -
(1) 10000/ HI (2) S/EIx100
() VI/Sx100 (4) HI/S x 100

46  Soil erodibility nomograph was derived by -
(1) Wischmeir et al (1971)
(2) Williams (1964)
(3) Wischmeir and Smith (1978)
(4) Kenneath et al (1991)
el SR e s @ REr mn oA -
(1) Wischmeir et al (1971)
(2) Williams (1964)
(3) Wischmeir and Smith (1978)
(4) Kenneath et al (1991)

94 A] 14 [Contd...
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47  The evaporation pan coefficient of class-A pan is generally taken as -
(1) 7.0 2y 070
(3) 0.07 4y 12
FTR-A U ¥ IS QO 9 TPl BT AN der § -
1) 7.0 (2) 070
(3) 0.07 4 12
48 The most suitable structure for drainage line treatment followed in all
regions of Southern Rajastan is -
(1) Loose stone check dam (2) Graded bund
(3) Contour bund 4y PRT
ol TR % |l g H oW e A Sua % WU §ed Suged
" ¥ -
(1) o<g 9er €9y (2) vaft €@y
(3) wdE q9 (4) dreman
49  The structure with masonry wall constructed across a nala for the purpose
of water harvesting is known as -
(1) Culvert (2) Anicut
(3) Farm pond (4) Percolation tank
o GO W 3g TW uX T RAE gea ueehl d@Xe @ S
Sl ¥ -
(1) W ) Thne
(3) W e @) orEa qe
50  An imaginary line on which the reduce level is same at all the points is
known as -
(1) ndge line (2) valley line
(3) straight line ' (4) contour line
% wrahie Y ae T frgsll o aw A uw 8w S ¥ -
(1) R = () I @A
@) Re @ @) T W
94 A] 15 [Contd...
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51 If the 1 mm rain water is infiltrated through ground surface of 1 ha field,
then total volume of water infiltrated into the ground will be -
(M 1 m (2) 10 m?
(3) 100 m? (4) 1000 m®
i 1 el Tul S qH @ |@de B 1.0 TR &N § e Bl
T g A g@ feam W@ emwmmiEd wEmo?
(1 Hred (2) 10 Hed
(3) 100 #rew (4) 1000 Wz

52  The following watershed gives highest peak discharge for the same area -
(1} Fern shaped (2) Fan saped
(3) Square shaped (4) Rectangular shaped
U TR dEwd a9 e § F @ | aees afbean 99 T dm?
(1) %4 SRBIX @ (2) ®F ABHT &
(3) THR (4) AR

53 The time required to move the water from remotest point of watershed
to the outlet is called as -
(1) unit duration {2) run-off duration
(3) time of concentration (4) effective rainfall
STeretl % & fag @ swvew & Few fag o s v 1y sasas
TG ®H Hed & -
(1) i s@y (2) wqEE SEy
(3) TR W HEHU (4) wurE Tu

54 For any watershed the values of sediment delivery ratio is always -
(1) more than 1 2) 1
(3) less than 1 (4) 2.5
fedl o s @9 ¥ geme RATd oguw @ W wEsm dar ¥ -
(1) = ¥ offtes 2
(3) Tk ¥ wA 4 25

94 _A] 16 [Contd...

www.upscstudymaterials.com



www.upscstudymaterials.com

55 Side slope of medium gullies varies from -
(1) 8 to 15% ' (2) 2 to 3%
(3) S5 to 7% 4) 3 to 6%
gy el B Wyd oW S6% 499 BaT ¥ -
(1) 8 ¥ 15 uiysm ) 2 ¥ 3 vwaew
(3) 5 ¥ 7 wiugW (4) 3 ¥ 6 gy

56 The shape of the watershed is generally expressed by -

(1) Form factor (2) Basin shape factor
(3) Drainage density (4) Elongation ratio
IR WO B Y 3Ub S veidid W & -

(1) i ¥ (2) I FER YOTiH
(3) Fem a=a (4) FEMIIE U™

57 Which of the following set of crops contains C, plants ?
(1) Cotton, rice and wheat
(2) Pearlmillet, rice and soyabean
(3) Maize, pearlmillet and sorghum

(4) Peanut, rice and wheat

Frefafas & ¥ frg o & wod @4 umu ¥ 7
(1) @ud, g9 o g

(2) W, " SR g

(3) TR, FNTU ST AR

4) Huwdl, g SR I

94 _A] 17 [Contd...
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When twe or more crops are grown simultaneously but do not have inter-
competition effects are called -

(1) turf crops (2) companion crops
(3) brake crops (4) parallel crops

S oE O a W fier BHd YW IS STl €, Wi oo
FRI-Na@ut® g @ gy, wewel € -

(1) <& wEA (2) "EA BEwA
(3) Wb HEA (4) IR ®hEd

The germination, in which the plumule is pushed upward and the cotyledon
remains inside the soil is called :

(1) Epigeal germination (2) Negative germination

(3) Hypogeal germination (4) Induced germination

sigTur B 16 9iFT (plumule) TR &1 X g G e & 8T s
T % oy & T ®d &, B HEA § -

(1) ‘gRRTE  SigT (2) FOTEHE HHA

@) ‘TEifwe Sigl @ T S

Restorative crops are those crops which -

(1) provide a good harvest alongwith amelioration of the soil
(2) on growing leave the field exhausted.

(3) are able to protect the soil surface from erosion.

(4) are grown for temporary storing.
ganfafed wEW 9% @ed § W 6 -

(1) HET 9 AW IUS & Y- Y& GURE &1 W B B@ § 4
(2) IUH W Wd @& Fem (we) s oad ¥

(3) oURET ¥ Yot Waw dl @ w ¥ owam @l ¥ |

(4) orrll wW W WWE &g IS WRO§

94 _A] 18 [Contd...
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61 Growing of four crops per year in such a way that land is passed on to
another crop before the previous one is harvested is called -

(1) inter cropping (Z) relay cropping
(3) ratoon cropping (4) multi-storeyed cropping

it ad o) ol B U W B N 39 weR S R dadl wed &
®e § UEW JadEd] wEW € & WMo, ® ®Ed §

(1) o= s/&Ee (2) & &

(G) U e (4) agHwr A

62 If paddy followed by wheat or sorghum followed by gram is cultivated
in a succession on a piece of land in an agricultural year is called -

(1) multiple cropping (2) double cropping

(3) continuous cropping (4) rotational cropping

wh Y o ¥ uw Thow @ ¥ 9t gm & 9w W o R % 9R
T H U H Gl B B HEd & -

(1) <—geadt (2) <Y N

(3) wad e (4) Tdlm A

63 Pop corn is -
(1) Zea mays indentata sturt. (2) Zea mays averta sturt.

(3) Zea mays saccharata sturt.  (4) Zea mays tunicala sturt.

Y P4 HeAEl 5 —

(1) Frr 47 == we Q) Frr 39 gadf =2
(3) Ffrar g9 d@ter w< (4) Forar g5 exlder @
94 A] 19 [Contd...
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Which of the weed is controlled by the use of Zygogramma bicolorata
as a bio-agent ?

(1) Prickly pear / Opuntic sp. (2)  Xanthium strumariun

(3) lantana camera (4)  Parthenitm  hysterophorus
frafaflaq & 4 fpg swgor & Frisw 3 QEens & w1 A a@ETEw
FEHIRer w1 yar fRar S %o

(1) STFT% (2) ey eafem

(3) WRET HE (4) T A

Which of the following is an example of mimicry weed ?
(1) Green gram RMG-344 in green gram RMG-492 crop
(2) Black gram in green gram crop

(3) Chenopodium murale in berseem crop

(4  Phalaris minor in wheat crop

frafafad & @ ®F @ SHEEHA ST B SART T 7
(1) T RMG-492 @ ®&d ¥ HT RMG-344 & Wrd

(2) 1 & wad ¥ ssE & 99

(3) dhifteT i@ W B HEA A

(4) T H wEw ¥ Han@ AEI

Herbicide used to control 'Orobanche aegyptiaca' parasite in mustard
crop is -

(1) pendemethalin and fluchloralin

(2) alachlor and bentazon

(3) nitrofen and trifluralin

{(4) MSMA and DSMA

Tl & wad 7 eiRigat stafew T Tl % Fesw % e age
MBI ¥

(1) T 9 TRl (2) TEER 9 S

(3) TEAHT T FEHEICH (4) TITEEHU 9 ATHTAT.

94 A] 20 [Contd...
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Which of the following is a spreading type groundnut variety ?

() A K. 12-24 (2) R G 141

G) T G 37A (4) RG 382
frafafed & @ Jreelt & = O bay T e ¥ ¢
(1) Wk 12-24 (2) SIS 141

(3) AN 37A (4) TS 382

Most commonly used herbicide in groundnut fields to control both annual
and broad leaved weeds is -

(1) Fluchloralin (2) Atrazine

(3) Alachlor @) 2, 4D

Thdl § S T AW qA Ghanig wiuaar & e W % fwe
TRl ST § o S Ten 9Tl ¥

(1) W (@) whE

(3) TR 4) 2, 4D

The scientific name of weed species —~ wild mustard is -
(1) Melochia corchorifolia (2) Oxalis corniculata
(3) Vicia sativa (4) Cleoma viscosa

SIAl T AHE W@ H A A" E o
(1) datfaar ke (2) oriFdfora BICHFgET

() fafmr wergar (4) Reremrar Freskar
70 Which of the following is not the selective herbicides ?
() 2,4D (2) Simazine
(3) Paraquat (4) Butachlor
= A ¥ @ @ ewaarant wTes e 8?7
(1) 2,4D (2) Tt
@G) R (@) SRR
94_A] 21 {Contd...
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71  Which disease of pearlmillet contains toxic alkaloids harmful to health ?
(1) Rust (2) Downy mildew
(3) Ergot (4) Smut
e % oy fwos Ueheied ae % RR AT N wR o ¥ 7
(1) Tg A () Hfim enfEar
(3) orie (4) @vs T
72 Seed rate (kg/ha.) of peartmillet in Rajasthan is —
(1) 2 kg (2) 6 ke
(3) 5ke 4) 4 ke
(o™ A g @ a9 & (BRI i deeR) ¥ -
(1) 2 fram (2) 6 T
3) 5 4 4 Raam
73 Inter and intra row spacing of black gram is maintained as -
(1) 25 cms and 10 cms (2) 30 cms and 10 cms
(3) 40 cms and 10 cms (4) 20 cms and 20 cms
SeT B GHE @l o wd orw: dfe @t g Bt ¥ -
(1) 25 ¥4 &k 10 AL (2) 30 ¥4 T 10 ¥4
(3) 40 ¥A. &l 10 §. (@) 20 .4 afx 20 A
74  In which of the following crop, nipping is done to stop the apical growth
and promote the lateral branchings ?
(1) Pearlmillet {2) Green gram
(3) Bengal gram (4) Mustard
frafafas waw § @ fee w8@ o 9B (JS6) 30 A0E § @ W ¥
@ 5 @Y A oider gie ores @ W 9 wid AR 3K R SR ?
(1) S @ A
(3) = (4) wxE
94 _A] 22 [Contd...
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75  The optimum temperature for germination and vegetative growth of
wheat is :
Germination - Vegetative growth
°C °C
(1) 10-13 and 8-12
(2) 14-19 and 13-15
(3) 20-22 and 16-22
(4) 23-25 and 28-35
T F SHW g qEERE ghg F W yead dwwm ¥ -
o A s ghe
oC oC
(1) 10-13 3T 8-12
(2) 14-19 T 13-15
(3) 20-22 3 16-22
4) 23-25 ik 28-35
76  Which of the following state stands first in area and production of Bengal
gram (chick pea) ?
(1) Madhya Pradesh (M.P.) (2) Mabharashtra
(3} Rajasthan (4) Uttar Pradesh (U.P)
T % SE%d 9 IOET § FrAiad ¥ ¥ B | U yud e uXod 2
(1) #= w&y (Tadt) (2) TR
() TR (4) @ WA (4)
94 A] 23 [Contd...
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Minimum per capita pulses recommended by ICAR is -
(1) 20 gram (2) 40 gram
{(3) 70 gram (4)y 120 gram

T Hiy agEaE TieE g0 ui wRe T @ e e
e % -

(1) 20 7™ (2) 40 7™

(3) 70 WA 4y 120 TM

When the seeds of pearlmillet and green gram are mixed and sown by
broadcasting method is an example of :

(1) rotational cropping (2) continuous cropping
(3) mixed cropping (4) sequential cropping

wa ae T YT F qrel e ey ewdl fafu g 9 s 3o aw
SEEMT ¥ -

(1) = & (2) wWad A

(3) T smw (4) oTHRiNE A

Growing only one crop year after year on a piece of land is called -
(1) Sole cropping (2) Cropping pattern

(3) Companion cropping (4) Mono-cropping

e fifyog y—wrm ¥ yREd @ & wEd I @ @ed € -

(1) @ wi (2) @i ¥
()  HACTET BIT (4) -
94 A] 24 {Contd...
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80 In which of the following - critical growth stages, the wheat crop should
be irrigated, if water is available only for two irrigations ?
(1) Crown root initiation {CRI} + dough
(2) Late tillering and flowering
(3) Crown root initiation (CR1) + milking
(4) Late jointing and flowering

afs waw & Riomgat & oY w@ oumew ¥ @ W Preafifea § @
DA A wiae ghg orawenstt W RiwE weh widg ?

() Y 9 9 & WY + IET e S 9 99"
(2) ww Hed B Sifed arqem + Yo
@) it 52 s F o + T A ¥ ysd W
(4) e T @ oifm e + g

81 Maximum number of fruit plants can be planted in the orchard by the

system -

(1) Square (2) Triangular

(3) Hexagonal (4) Rectangular

T wE B e Ty § efumaw duiow fear s ogma ¥ 7
(1) =R | (2) DBryswEer

(3) WY (4) TR

82 Which is known as "Teak of Rajasthan” ?
(1) Sins (2) Rohida
(3) Arun (4) Neem

BF ORI & p” beA & °

(1) B (2) Jfest
(3) enfd ) -
94 A] 25 [Contd...
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Which one of the following is not an arid fruit ?
(1) Pomegranate : (2) Grape
(3) Bael (4) Aonla
e ¥ ¥ B W g TEag ® hw a7
(1) e (2) ST

(3) @ (4) oifaa

Best soil for planting a fruit orchard should have pH between :

(1) 35-55 (2) 45 - 65
(3) 65 - 75 (4) 75-85
wAEE W & Mu gdes gE fum we g uied
() 35-55 (2) 45 - 65
(3) 65-175 (4) 7.5 - 85

85 A fruit called "Indian goosberry" is :
(1} Guava (2) Aonla
(3) Ber (4) Pomegranate
‘Rl (el R wE wm oM & 7
(1) omee (2) slrEw
G = 4) SFR

86 Central Institute for Arid-Horticulture is situated at :
(1) Bangalore (2) Bijapur
(3) Bikaner (4) Bhopal
LR g arrEe g Raw ¥ o
() @R A (2) dragR o
(3) iR H (4) o #
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87 High production in protective cultivation is due to :
(1) High temperature (2) High O,
(3) High photosynthetic efﬁciencf(él) All of the above
i el W afie S @ ger e o
(1) o= qwen ) atym SRS
(3) ofuw vty dewwer TEar  (4) SUdER gl

88 Biennial Bearing is one of the most serious problem in :
(1) Mango (2) Datepalm
(3) Banana (4) Ber
feedl wem wo ger wmem ¥
(1) o # @) T A
G) ww H @ ax

89 Leucacena lencocephala is the botanical name of ;

(1) Khejri (2) Israeli babool
(3)  Soobabool @  Ardu

BT HH G aEEiaE W s

(1) @@= @ 2) FoEd 9gw @
B) T @ (4) WG @

90 Which of the following fruit crop have varieties 'Chitidar' and
‘Lucknow-49' ?

(1) Pomegranate (2) Aonla
) Guava (4) Mango
ToRER o TETe-49 e ¥ F few ww @ e ¥ 7
(1) &R (2) Stiaen
(3) omee 4y «m™m
94_A] 27
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91 Mridula is a cultivar of :

(1) Guava (2) Ber
(3) Pomegranate (4) Aonla
Hgen e w@ @ fEe ¥ 7

(1) e @) 9
(3) AR (4)  ofiae

92  Seedless variety of mango is :

(1) Amrapali (2) Langra
(3)  Sindhu (4) Dashehari
o & 9w Wa e ¥

(1) ST (2) ST

¢y Ry (4) aeEd

93 Best time of budding in ber is :

(1)  July-August (2) September-October
(3) November-December (4) May-June

I H BWHET B GEOH I §

(1) gaE—erTe @) forar—ems
() war-REwR (4) WE-S[T

94 In grafting lower part of plant is known as :

(1) Stock (2) Apical

(3) Bud (4) Scion

mirT § dig %1 fae 9w S oena o

1) =& (2)

(3) hictRl (4) wiaT
94_A] 28
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95 Ber is commercially propagated by :
(1) Inarching (2) Layering
(3) Seeds (4) T-budding
I H AEERE Y99 @ ¥ o
(1) i g @) Wafer g

(3) I T (4) dA-—=fdeHET za

96 Commercial method of propagation in mango is :
(1) Vineer grafting (2) Seed
(3) Budding (4) Cutting
M & yasT @ @eEhe b ¥
(1) TR i @) @
() wiw&wET @) @A

97 Management of forest through peoples participation is called :
(I) Social forestry (2) Farm forestry
(3) Agro-forestry (4) Jomnt forest management

o9 gewiien § 99 USRYd %l @ed § ¢

(1) wmRTE arR (2) W& arrn!
3) g arfrRr (4) WgE o9 v
94 A] | 29 [Contd...
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98 Fruit cracking in pomegranate is due to deficiency, of :

(1) Nitrogen )
(3) Boron (4)
MR H W Wed d T B T
(1) el (2)

(3) W (4)

99  Fruitfly is a major pest of :
(1) Aonla ()
(3) Mango (4)
waned! fRuE g @e g 7
(1) & @ (2)

() o™ = *

100 Richest source of "Vitamin C" is :
(1) Pomegranate 2)
(3) Bael (4)

ot “faefim—dr =1 899 ¥ -

(1) fR )
(3) = 4)
94_A] 30
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KEY ASSTT. SOIL CONSERVATION OFFICER (AGRICULTURE) FOREST DEPTT. 26/06/2013

SET_A |RES SET_A |RES
1 1 51 2
2 1 52 2
3 3 53 3
4 4 54 3
5 3 55 1
6 2 56 1
7 2 57 3
8 2 58 4
9 2 59 3
10 1 60 1
11 1 61 2
12 1 62 2
13 3 63 2
14 2 64 4
15 3 65 4
16 3 66 1
17 1 67 4
18 2 68 1
19 1 69 4
20 1 70 3
21 2 71 3
22 1 72 4
23 1 73 2
24 1 74 3
25 1 75 3
26 2 76 1
27 2 77 3
28 1 78 3
29 1 79 4
30 1 80 3
31 2 81 3
32 4 82 2
33 2 83 2
34 4 84 3
35 3 85 2
36 2 86 3
37 1 87 3
38 1 88 1
39 2 89 3
40 3 90 3
41 2 91 3
42 2 92 3
43 2 93 1
44 1 94 1
45 1 95 4
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46

47

48

49

50

I Y OO SO N

96 1
97 1
98 3
99 4
100 4
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